Quiz 2 Calculus 3 9/9/2011
Each problem is worth 5 points. Clear and complete justification is required for full credit.

1. Find an equation for the line passing through the points (3,-2,0) and (7,1,-5).
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2. Find an equation for the plane passing through the points (1,0,0), (0,5,0), and (1,5,3).
Lrown (1,0 oY% (0,9, 0): (-1,5,0>

/

( ( \ N - —
s Vin | N 1~ s\~ /2 . 2 Oy
gw-[( - ,:'\ A b s B .6 ot £ 5% \, v LULLIOE La'/ ,”e‘. 3 Croct ’,.;/'j-;/,u;' o
" OL < d et et 2y Lol «7 ; >
- - N \ T 3 k I '
-1,5,00xL0,5 W |8 o <m0 -5 Dt Aormal vectsr
/ ’ ,
0o S 3 !
) N \ N\ ! \ , !
J & W Tl = ‘f-‘ Ao hA A ./af‘g( e e, 5 o 7: a e g bt ot -
- v



